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101

102

103

Questions

Credit limit is also known as

e a1 & ST g

(A) Threshold limit

DRGERIL

(B) Control limit

el T

(C) Cash limit
BRG]

(D) None of these
EEEEEIEE |
Answer Key:(A)

credit limit for Corporate Customer is

PIURE Aed & fou shige Fafg e

(A) 10*SD

(B) 5*Sd

(C) 4*SD

(D) None of these
$TH A DIE TG

Answer Key:(C)

http://223.30.222.69/bsnl2017/testset.php

The completed copies of Advice Notes are to be received in computer centre within

....... o Ugarsyl Aie &1 guf 43} T Ufd g er o H U g1 o1 a1 g
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(A) 3 days

3 e

(B) 7 days
7f&q

(C) 15 days

15 faa

(D) 30 days

30 faa

Answer Key:(A)

ZBC stands for

7ZBC F1 3 §

(A) Zonal Bureau of Credit

(B) Zonal Board of Credit
104

(C) Zonal Board of Cash
(D) Zonal Billing Centre

Answer Key:(D)

Surcharge in CDR is known as
WER B GUR &) gl o1l 3

(A) Penalty for late payment

S Yy & e s

(B) Late fee

ICRERIGT

105

(C) Not in CDR

HStem & 7gY
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106

107

(D) no change

P13 uRad !

Answer Key:(B)

Time limit for payment of TR bills without fee from the date of issue of bill is
for the bills issued from 1st of the month to the end of the

http://223.30.222.69/bsnl2017/testset.php

TTE &1 Ugdll aRIG ¥ HIg & 3fd H - T o IR foed &l faH 1 Yewb &b YT v hi

g I fod & S g &t Al @ - A B

(A) 21 days, following

21 T, St

(B) 20th day, 25th day

20ai f&T, 25 @i fea

(C) 1 day
1 e

(D) 22nd day, following

2291 f&H, St

Answer Key:(A)

IMMEDIATELY ON NOTICE OF SPURT

e BH W @A

(A) THE LINE CAN BE DISCONNECTED

S D DI T AT

(B) SUBSCRIBER TO BE CONTACTED
IUHITd T TUb HRAT IR

(C) LINE TO OBSERVED

AR Bl 4@ Ile T

(D) INTERIM BILL TO ISSUE
3fAH fId ORI HAT A1l T

Answer Key:(B)
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108

109

110
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THIS DESERVES TOP PRIORITY

9 I YUl &=t Ffeu

(A) BILLS RTD UNDELIVERED
N T foedl bt fgaiiast 9 gF R aruit

(B) UNADDRESSED BILLS
ST foe

(C) SERVICE BILLS
a1 foe

(D) None of these
EEEEEIEE|

Answer Key:(B)

DE CAN GRANT REBATE UPTO RS

DE(S13) fhd™ UT d% §e U™ R Ihdl &

(A) 1000
(B) 2000
(C) 3000
(D) 5000

Answer Key:(D)

BSNL HAS A AND PG REDRESSAL SYSTEM

(A) WELL STRUCTURED AND MULTILAYERED
31 AT 3R TGURIG

(B) COMPUTRISED AND MANUAL
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HICAHd AR A3

(C) STRONG AND SOUND
ToTd 3R Ted

(D) WELL DEFINED AND EFFECTIVE

quid: R 3R FHTet

Answer Key:(A)

IF THERE IS PROLONGED INTERRUPTION DUE TO FAULT, REBATE IS GIVEN

IS 3N & HRUI Td TG ISP 1T G 7, Al §e U P Sl o

(A) LL RENTAL ONLY
Had TAUd fHIU R

(B) LL AND BB RENTALS BOTH

111 TAud 3R st g1 fmm R

(C) BB Rental ONLY
FHad sidl fhmT

(D) None of these
THI PR TaI

Answer Key:(B)

RECONNECTION OF LINE IS AUTOMATIC ON PAYMENT OF DUES WITHIN OF
DNP

3T 1T BT YA B TR ATE WA 0 J - ST H GEId g1 ol 8

(A) 1 MONTH
U HIg

112
(B) 2 MONTHS

2 TG

(C) 3 MONTHS
3G

(D) 6 MONTHS
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6 T

Answer Key:(C)

THE MAXIMUM PERIOD FOR WAIVAL OF RENT FOR DNP IS

et & forg famme o ge &t siftreray srafy 8

(A) NO LIMIT

IS a1 e

(B) 6 MONTHSt
113 6HE

(C) 3 MONTHS
3|

(D) 6 MONTHS
6 {8

Answer Key:(A)

CSC FOLLOW THE CONCEPT OF

oot 9 BT 3w BT §

(A) SINGLE WINDOW

IRUGACE]

(B) MULTIPLE WINDOW

114  HAeciud fdst

(C) SERVICE AT DOOR STEP

ATl IR gl Tar

(D) None of these
EEEREIEE|

Answer Key:(A)

Mode of payment does not include

WITAH & TR B g afferd Te g

115
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116

117

(A) Cash
dbaq

(B) Cheque

EED

(C) Deposit receipt
ST TG

(D) Credit card

EREA

Answer Key:(C)

Service tax is not applicable to IUC charges

TS THRY TR a1 R AN TS &

(A) Correct

el

(B) None

PIS el

(C) Up to 31-05-2007
31-05-2007 A%

(D) Not correct

SEEG

Answer Key:(C)

Interconnect usage charges are accounted

geRPBdC TS THRI &1 99 3MUR TR TUHT &1 Al @

(A) None

PIS TGl

(B) Receipt basis

TG SR

http://223.30.222.69/bsnl2017/testset.php
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118

119

(C) Payment basis
YA AHIUR

(D) Accrual basis

Ulgd 3MUR

Answer Key:(D)

Meter readings from exchange are received in TRA

AR F v A Hiex A& U did 2

(A) Daily

gfdfes

(B) Weekly

BSISIEES

(C) Fortnightly
Ugg fa

(D) Monthly
iR

Answer Key:(C)

Trunk call details are received from
¢ Pict AR 5 I U 81 §

(A) Customer
PIRED

(B) Exchange

(C) Commercial

qrforsar

(D) CTO
it

Answer Key:(B)

http://223.30.222.69/bsnl2017/testset.php

07-03-2017 15:16



BSNL Questions http://223.30.222.69/bsnl2017/testset.php

One reason for losses of revenue in BSNL, as per Audit, is due to

TR & TR, ST H IoRd &1 g1 9 & SR g

(A) Non billing
fSfeiTT =1 g & BRU

(B) Cheque dishonor
120

(C) None
3T QIS el

(D) Cabale fault

CENEAL

Answer Key:(A)

Exchanges to furnish a list of non-directory items to the concerned TRAOs

RISl gRT e fid STeRush &1 R HERIwT 7el &1 u_gd BT

(A) Every month
PRERIN

(B) Every Year

121 Udd Y

(C) Every week
TS I8

(D) None
TH A DI TEl

Answer Key:(B)

Prepaid services are offered through

o Jarsit & 9 & gR1UKd fbar ST 8

122
(A) Intense Network

g¢g Jead
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123

124

(B) Intel Network

ENERELT

(C) Intelligent Network
P o Y c
gclcoic Hedd

(D) None of these
EREREIEE|

Answer Key:(C)

International Roaming charges accounted in
SIRIF AT TRY Bt 70rT 4 B 7 St &

(A) Tamilnadu

GIENEIS

(B) Gujarat

(C) Maharashtra

HERTE

(D) West Bengal

ufgH §a

Answer Key:(D)

LBM meets

ToeTH 96 Bt 8

(A) Once in a month
HIE H T IR

(B) Once in Two months

&I g H Uh IR

(C) Quarterly

fommet

(D) Half yearly

http://223.30.222.69/bsnl2017/testset.php
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refare

Answer Key:(A)

HPC meets

iR 93 g1 8

(A) Once in a month
HIE H T IR

(B) Once in Two months

125 GIABHATS IR

(C) Quarterly

(D) Half yearly
3

Answer Key:(B)

CDR stands for

CDR BT 3 g

(A) Call data record

(B) Call detail record
126

(C) creditors detail record

(D) creditors data record

Answer Key:(B)

NSS stands for

127
TUUY &7 31 B

11 of 43 07-03-2017 15:16



BSNL Questions

12 0of 43

128

129

(A) National Support service
(B) National society Service
(C) Network support service

(D) None of these
EEEREIEE |

Answer Key:(C)

IUC stands for

TSy &1 31d §

(A) Interconnect usage charges
SRBE T YHR

(B) Internet Usage Charges

AT TS YUR

(C) Intelligent Usage charges

Seforie Oe TUR

(D) None of these
EEEREIEE|

Answer Key:(A)

Interest payment on Service tax is

g B TR TS YT 9

(A) Optional

(B) Automatic

ferd

(C) Demand is required from Central Excise

http://223.30.222.69/bsnl2017/testset.php
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HEIT IATE Yo I AN 3 W

(D) None

PIS el

Answer Key:(B)

Present rate of Service Tax with education and Swach Bharat cess is

a1 B B R 3R s HRA 99 & Y IdaH R 9 @

(A) 12.5%
(B) 14%
130
(C) 14.5%
(D) 10%

Answer Key:(C)

That meter readings of spare numbers to be checked by the AE ------------ %

TS NI P GRTWIR FeRl B Hiex AT forg o1 w1 ufawd g1

(A) 20%

(B) 50%
131

(C) 10%
(D) None
TH AP 16!

Answer Key:(D)
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132

133

134

Service tax is applicable to IUC charges

g1 R S THRI R A A 3T R

(A) From 01/06/2007
01/06/2007 &

(B) from 31/05/2007
31/05/2007 &

(C) From 01/04/1994
1/4/1994

(D) None

DTS TGl

Answer Key:(A)

Local circuit charging
R widbe =it

(A) Customer premises A to Customer premises B

T ATe® & URTUI 9 & UTgdh b YTl dh

(B) Customer premises to exchange

UTeH & YN0 ¥ oS d

(C) Exchange to exchange
Uil § Tl

(D) Based on build up circuit
Y 7Y Hidhe TR SR

Answer Key:(A)

SWAN is

SWAN BT 3 g

(A) State wise adjusting network

http://223.30.222.69/bsnl2017/testset.php
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(B) State wide area network

(C) Single wide area network

(D) Secondary wide area network

Answer Key:(B)

MPLS is an acronym for

MPLS f9 & forg ufkauff wrsg @

(A) Multi Protocol Level Switching

(B) Multi Protocol Label Switching
135

(C) Multi Protocol Local Switching

(D) Multi Protocol Long distance Switching

Answer Key:(B)

ARPU stands for

ARPU BT 310 g

(A) Annual Revenue per year

136 (B) Annual recharge per user

(C) Average revenue per user

(D) None of these

3T A DI Tl
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137

138

139

Answer Key:(C)

TRAI guidelines should be displayed on

TRAI & fe=n Fdw &1 frg A Uspe 1R

(A) LR to customers

LR ¥ SUHISdT dh

(B) Telephone bills
oIl o

(C) Demand note

fgHrs e

(D) Advice note
TSarzy e

Answer Key:(B)

TRAI GUIDELINES TO BE PRINTED/DISPLAYED ON

AemRuss ez &1 g R geu/feaw

(A) TELEPHONE APPLICATION FORM

Celitp SfTda BiH

(B) TELEPHONE BILL
TAImH fad

(C) ISSUE LR TO SUB
IUHITT Bl TAAR SR HIAT

(D) CSC
UEH Hal H5

Answer Key:(B)

License Area represents

A=A &7 Y o1 ufafAfia Hrar g

http://223.30.222.69/bsnl2017/testset.php
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140

141

(A) BSNL CO

diTATgTd e srfay

(B) SSA
=

(C) Circle

gRHed

(D) Region

Answer Key:(C)

http://223.30.222.69/bsnl2017/testset.php

The telephones of the following are not exempted for disconnection for nonpayment

PrefefEd & Q fewe) e YiidH W 2w e & ge U 181 &

(A) Recognised political party president

AT YT IS g b 38

(B) Prime Minister

TeTHAT

(C) Chief Justice
T g

(D) President

yufd

Answer Key:(A)

SD stands for

SD &1 31 g

(A) Security Debtor
(B) Sundry Deposit

(C) Security Deposit
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142

143

(D) None of these
THI PR TaI

Answer Key:(C)

Credit limit is also known as

wfge o w ug i v e

(A) Threshold limit

DRGERILI

(B) Control limit

=T I

(C) Cash limit
Tebe JrAr

(D) None of these
EEEEEIEE |

Answer Key:(A)

Commercial records are under the custody

aTforsd Repred A &1 SftRem 7 8ld 8

(A) CSR

IR

(B) CSC
UTgh Il

(C) Administration
UM

(D) SSA HQ
THUHT G

Answer Key:(D)

http://223.30.222.69/bsnl2017/testset.php
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144

145

146

Officer in charge of Higher level CSR i1s

HTHIIR & T TR & SR THRT &

(A) SDE
JUHSd Al

(B) DE
qusd Al

(C) AGM
qerdd HeUs YD

(D) DGM
SUHGUI®[h

Answer Key:(A)

Call records are received from
B RpTSY 9 T U 81 &
(A) Exchange

(B) Commercial

ClNIGED

(C) Sub-division
3Y HUSA

(D) None

PIS TGl

Answer Key:(A)

FOR ISD SUBSCRIBERS AO TR CAN LEVY

TS TED! T AWABR! TR g B} IE) B Fhell &

(A) ADVANCE DEPOSIT
SR oA T iy

http://223.30.222.69/bsnl2017/testset.php
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147

148

http://223.30.222.69/bsnl2017/testset.php

(B) VOLUNTARY DEPOSIT

Ufwsen ST IR

(C) SECURITY DEPOSIT
gfayfd s

(D) NON REFUNDABLE DEPOSIT

3fced SrHT

Answer Key:(C)

SUBSCRIBERS COMPLAINT REG ARREARS SHOWN BUT PAYMENT ALREADY
MADE IS DEALT BY

BT b &Y H ATgeh] D1 RIBIId GRMTS T8 & fbrg g F fobT T YT D1 g S 3

(A) DE CONCERNED
AT AUSd T

(B) AO (CASH)
T SYBRT (THQ)

(C) AO(TR)
o SABRY ( V3R

(D) NODAL OFFICER
NSd HYBRI

Answer Key:(C)

STD/ISD PCOs are to be disconnected if the payment is not received within working
days

(A)4

(B) 5

©)6
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(D)8

Answer Key:(A)

Single window billing is to facilitate a Company at a single point for all their circuits
Rt fde fafci b1 o 8 Uit & |t Afchel o &1 Tab 51 RIM W AT o IR F9H1

(A) in a particular area

fa=y &= o

(B) All over a city

1499  WTRY

(C) All over a state

RIS I

(D) All over India.

R YR o

Answer Key:(D)

In Telephone bills fixed charges and call charges are billed as

eI foedt & Afa gHR 3R ST UHRI &1 g & U # fod fosar sirar g

(A) actuals

aRdfd®

(B) Arrears
150 EEagll

(C) NIL
RIS

(D) fixed amount

[RECKUEY

Answer Key:(B)

21 of 43 07-03-2017 15:16



BSNL Questions http://223.30.222.69/bsnl2017/testset.php

Journey on duty on any day beyond Kms is local journeys for which
allowance for the journeys for all days spent on temporary duty plus
admissible Daily allowance

¢ & SRM ... fo 1. & ware ot foret ot fo am =it g 8 foraes fo sremdt st
FerRAgH e m e fFuu ... v=i & 9y .. 2% v 2T gl

(A) 10 km, mileage, 80%

10 fhdHTeR , AT 80%

151 (B) 8 km, transportation, 50%

8 fhamTex , uRagH, 50%

(C) 8 Km, mileage, 50%
g foraiIiler | A1gaieT , 50%

(D) 18 Km, mileage, 50%

18 fpdHtex, ATgAd, 50%

Answer Key:(C)

Benefit of additional qualifying service is allowed to officials retiring voluntarily in BSNL
upto

SUEUd H Ufase Jar-ghi o arel HHATRAl ! {fdRad 3fgd AT & a1l &I - Bt
AR - dB B

(A)5 Yrs

599

152 (B)4 Yrs

494

(C)3 Yrs

3 9y

(D) Benefit is withdrawn
ATH 10 o foram

Answer Key:(D)

Maximum Family pension allowed is
153
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URER &Y 3ifraH Uz Bt 3rgAfd B

(A) Rs. 27000
27000 ¥UT

(B) Rs. 15000
15000 YUY

(C) Rs. 9000
9000 $JU

(D) Rs. 45000
45000 U

Answer Key:(A)

Age limit for divorced / widowed daughter to get Family Pension (with other Conditions)
Jaregen/faar It & fore witeh U U o3 & forg 3y T (319 2l & 9e)

(A) 18 Yrs
18 Iy

(B) 20 Yrs
154 2099

(C) 25 Yrs
25 a4

(D) No age limit

IS a1 Tl

Answer Key:(D)

Who can sanction Encashment of Leave to an official retired on superannuation?

3IfRrafiiar & SR TR YATHgd §T HHAR! DI ol YA Pt HoRl S <l 8

155 (A) One level above the authority competent to sanction leave to the said official

IFd HHARI BT e ! Widd B dTdl T&H TIBRT F TH TR W

(B) The authority competent to sanction leave to the said official

I HHART B G2 Dl Wipd DI b 11T HaH UITIDBRT ol FeH &
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(C) One level below the authority competent to sanction leave to the said official

Iad HHARI DI Fe ! Widd B arel 9l UAGRT Y Th WR A1

(D) The BSNL Corporate Office
divguTd A srafad

Answer Key:(B)

Encashment of EL is allowed to the officials resigned.

ST SIS HHAR! DI EL TIHHC [T HoR 8

(A) 20% of Leave at credit
20% W19 T s

(B) 40% of leave at credit

156  40%dd UC higc

(C) 30% of leave at credit

30% oid Uc shigc

(D) 50% of leave at credit subject to max 150 days
50% o1d Ue hiec 3iferead 150 e

Answer Key:(D)
Deduction from E/L credit due to dies non period in a half year is of period of such
leave, ,limited maximum up to days

3t a9 7 ST ey 3afd & HRUT ST SfSTd Gel # ¥ deldl ST UBR B el A 9 ...
3afy g, S ... do WP

(A) 1/10th, 15 days

/109, 15 f&
157

(B) 1/12th, 12 days
1/12at, 12 f&T

(C) 1/10th, 10 days
1/109f, 10 faa

(D) 1/20th, 15 days
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158

159

160
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120, 15 f&1

Answer Key:(A)

HPL up to max days may be allowed to be commuted during the entire service
without production of MC, where the leave is utilised for in the public interest

R AareTd §, fo faferen vHmos & siftieaw ....... faH a& &t siefaay ggl o &
a8, N gel o1 3uaT ... & o Jar & R & fpar man g1

(A) 190 days, study
190 f&, st

(B) 180 days, study
180 fa=T 3remg

(C) 120 days, LTC

20 fa , Tadidt

(D) 90 days, study
90 f&=T srezmm

Answer Key:(B)

commuted leave up to days without MC to female Govt servant on

WER! Afgel HHAR! DI gikafdd gel forT Rifern vz & ... i dw ... R

(A) 60, adoption of child

60,5 P TG T

(B) 45, LTC

45, Tt

(C) 30, adoption of child

30, = &I MG Tl

(D) 60, LTC
60,

Answer Key:(A)

To avail encashment of EL along with LTC, one should have at least a balance of days
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EL at credit after debit of leave and total leave thus encashed through entire career does not
exceed days

TACHH & AT 1Y 3ffofd GE! 1 a1 oM IR FHART & U 3od Giedl BIc oI OX ...,
& 3t SifSTa gt o1 ST 1T aut ol YareTd H 59 UhR &1 YTs T8 gedr ... fa=t
Y 3fYep T gl =1l

(A) 45,60
45,60

(B) 30,90
30,90

(C) 30,60
30,60

(D) 45, 180
45, 180

Answer Key:(C)

Deduction from advance of leave salary will be for

) I o A A e g o

(A) Only PF

FHad U

(B) only Income Tax

161 HAd MTAHT

(C) Income Tax, PF, House rent, recovery of advance

DR, YT, TehTH foborr, 31T &1 ageit

(D) PF, House rent, recovery of advance

UIUW, Teh T BT farra, 31H &t aget

Answer Key:(C)

leave can be combined with

162 oo, FEL Bl ......... & 1Y ST T el §

(A) C/L, any other leave
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3MTH I SABTR , 3 Bl Gal

(B) Maternity leave, any other leave

U AT, 3 Dis Fel

(C) C/L with E/L
TSI STHTR & AT B RADB Gl

(D) C/L with HPL
31 I BT & AT ATH WD Gl

Answer Key:(B)

C/L can be combined with ,but not with

(A) E/L, HPL

3ifSid sfaepTar/ 3¢ I ggt

(B) Spl CL, any other kind of leave
163 foRIY THTIH G, BIs 3 UHR P el

(C) HPL, E/L

31 I 3raemTRT, Sffold el

(D) Any other kind of leave, Spl C/L

DI 3 U DI gol, faRIy ST gel

Answer Key:(B)

As per Rule of CCS leave rules, maximum amount of study leave shall be granted
e get fFami o g & AR, HAHAT .......... d g1 3T Gal UG &l
MEFA G ...

(A) Rule-51, Ordinarily: 12 months, Entire service: 24 months
164 fom.s1, 9MRId: 12 A8, THul SareTd: 24 A8

(B) Ordinarily: 12 months, Entire service: 24 months
HHTd: 12 HATE, WUl JaThId: 24 HATE

(C) Rule 51, Ordinarily: 12 months, Entire service: 36 months
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am.s 1, IHr=ad: 12 AT, Trguf YareTd:36 AT8

(D) Rule 52, Ordinarily: 18 months, Entire service: 24 months
ar-s2, aH=ad: 18 AT, ol YarehTd ; 24 ATE

Answer Key:(A)

can be pre-fixed/suffixed to C/L

...... DI 3B el &b AT Gaaitora/SrafoTd foar o Tl §

(A) Sundays Pubhc holidays, RH, weekly off
IR, ArdS® SaHI Uﬁi‘q’fﬂﬁ@?{ AT D SHABTR

(B) Sundays, any other kind of leave, RH, weekly off

165  AAAR, PIS T UBR B Fal, UalRid Fei, IIed HaH

(C) Sundays, Public holidays, any other kind of leave, Spl cl
fIaR A GEl, Dl 30 UHR B gol, faRy ¥y gl

(D) Public holidays, any other kind of leave, spl cl

AW DI , Bl AT THR &1 Fe!, AT 3w Fal,

Answer Key:(A)
C/L should not normally be granted for more than days and during
leave can be availed

BB Gl DI A ....... f&AT § 31 e 72 foran o1 =1fee 8Tk Fet & SRM
...... BT ATH IS S ST 5 |

(A) 5 days, LTC

5 fe wadi

166 (B) 10 days, tour
10 fad,

(C) 8 days, LTC

8 fa, Tadte

(D) 5 days, tour

AR
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Answer Key:(A)
Unavailed period of J/T, limited to a maximum of days can be credited to
account, limited to days credit.

HTITEU GHY B 3l T ary 78 Sorn T 2, o sifiean....... i3 ao difra g,
3P ... W H oA fHar s gedi g o f ... feq s o dop Hiffd g1

(A) 15, E/L, 300+15
15, TSI 3TBT, 300+15

167  (B) 15, E/L, 300
15, TSI 3TBT, 300

(C) 10, HPL, 500
10, AfITT BT , 500

(D) 12, E/L, 300+15
12, ST 3@t 300+15

Answer Key:(B)

When an increment falls due during Joining time, the increased pay will be drawn only on
joining time duty Joining time, but the period will count for increment

SRIEU AT P SRM I1E Id1g1g S0 7, O 561 §T A BT 3TER0T Had HIIIRGU THI
S R HATGU T ........... foran o wava § , feg g 3fafdy ....... Jagfa & forg et
ST |

(A) after, present
ECICACREIE|

168
(B) before, present

& Ugd , IaHH

(C) before, next

& Ugd, STl

(D) after, next
& §1G, ST

Answer Key:(D)
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BSNL liability under EPF is
YU & Siqiid Siuguud 1 g eiRid &

(A) 12.61% of wages

TG T 12.61%

(B) 13.61% of wages

169 HGQ'\“W 13.61%

(C) 14.5% of wages

IIGQ'\“ Pl 14.5%

(D) 15% of wages

TOIGRI BT 15%

Answer Key:(B)

Rule 4, Rules 5,Rule 15 and Rule 16 of CDA Rules relate to , ,
and respectively

it w1 w4, g s w15k g 16 paer: N R 3R
........... J Tea g

(A) Integrity, Misconduct, Gift, Dowry
TAMET, GRIERUN, JUER , T8

170 (B) Suspension, Moveable property, misconduct, penalties

eieH, =dl YUf, QR <8

(C) Dowry, Major Penalties, Valuable property, Gift
3RV, §81 <8, B! Hufl, IR

(D) Suspension, Gifts, Dowry, penalties
Mo, 3UGR , Ga9, &8

Answer Key:(A)

Eligibility to sanction HBA is

171 UESIT SR B & g unrare

(A) All officials
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gt HHERY

(B) Permanent Officials with 10 yrs service

T HHIARY 10 IY a1 & 1Y

(C) Temporary status officials

SRSt HHARY

(D) None

DTS TGl

Answer Key:(B)

Max HBA can be sanctioned
3ffIHaH TIeY HoR fardT o IahdT §

(A) 5 Lakhs
5drd

(B) 7 Lakhs
172 7 drd

(C) 7.5 Lakhs
7.5 <ld

(D) 6 Lakhs
6 ¢ig

Answer Key:(C)

First recovery of interest bearing advances will start from the salary of the month

TS aTal 3P &1 Ugel! ae 9 A8 & dd- 9 = 8l o

(A) Second month of the month in which the advance was paid

o Are & 1R yrrar forar man 8 3% gut Are §
173

(B) First month of the following month in which the advance was paid

STt ATE S i 1 YT foba 81 39 ugd Are ®

(C) The month in which the advance was paid

fore are o 33 1 Yrra fear mar 8 Sw Are o
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174

175

176

(D) None

DTS TGl

Answer Key:(C)

Official not eligible for festival advance

g e AER fm o1 uE g R

(A) official on HPL/EOL or LPR
HHART 3 I G/ SIRATURUT &1 YT TAUTR TR

(B) under suspension

IEREREEICIG]

(C) official under EL/Maternity leave

FHHART ST ATHIR / AT ol W

(D) both 1&2

1 3R 2 gt

Answer Key:(D)

Interest bearing advances are

el gl SR P g

(A) 1. Motor Car, 2 Motor Cycle, 3. Flood advance, 4. Flat
1. HIEX R, 2. Al A8 d, 3. d1¢ 30H, 4. Taic

(B) 1. Motor Car 2 Motor Cycle, 3. Personal computer 4 Flat
1. 7R DX, 2. e} Hqighdl, 3. PHYCY, 4. Tic

(C) 1. Advance of LTC, 2 Motor Cycle, 3. Personal computer, 4 Flat
1. TACH 3T | 2. Ae UIEhd, 3. SR , 4. TIC

(D) 1. Motor Car, 2 Bicycle, 3. Personal computer, 4 Flat
1, AR BR 2. AZHhd , 3. HICR , 4. Tic

Answer Key:(B)

http://223.30.222.69/bsnl2017/testset.php

Flood advance to be recovered in not more than installments and commenced from
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the issue of pay after the advance is drawn

¢ A Bt Il ........... forl & SaTeT & 781 &1 o 1T SR 39! Reard i3
AP TS ....... 39 I BT =R

(A) 30, second
30, gURI

(B) 25, second
25, qURI

(C) 30, first
30, Ugdl

(D) 25, third
25, TIRT

Answer Key:(B)

RE & BE is prepared

RE & BE &ATS Idl @

(A) Monthly

EIIRED

(B) Quarterly
177

(C) Annually

(D) Half Yearly

ELI]

Answer Key:(C)

No Expenditure is to be incurred by the against unsanctioned projects

3Rdigpd ufaeHIet & farg ............ GRT P18 o0g g -Ta! fhaT S g |

(A) Circle

uRHsd

178
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(B) division
HUsd

(C) SSA
[SSINSIY

(D)1 &2
1 3R 2

Answer Key:(D)

Heads of circle /IFA will closely monitor the expenditure monthly and ensure that the actual
expenditure is within the allotment

IRHSH TUT/3MEUHTE IRID! § IS T BT Al1ex S R AT S fob
JRdfd® &9 ... Jrefed & Wi 81|

(A) scheme-wise

TSR

179 (B) Area-wise

IR

(C) lor2
1412

(D)1 &2

1 3R 2

Answer Key:(D)

15th November and 15th February showing the progress of expenditure recorded by the end of

and respectively
Y &1 WA BT G AT 15 TdeR 3R 15 BRa Bl HH: oo 3R o & sia A
1S fpar sirar g

180
(A) September, December

b

(B) October, January
ISR , SR
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181

182

(C) November, February
IR, BRI

(D) December, March

feer, A

Answer Key:(B)

Capital budget allotment is made to units on

(A) lump sum basis

TS {=T SMUR

(B) estimate wise

SICANE IR

(C) project wise
dR

(D) None

PIS el

Answer Key:(A)

Amount of cyclone advance

qehaTd 3UH B AR

(A) Rs 5000
5000 ¥UT

(B) Rs 2000
2000 ¥UT

(C) Rs 2500
2500 Y

(D) Rs 3000
3000 ¥UY

http://223.30.222.69/bsnl2017/testset.php
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Answer Key:(A)
Motor car advance to be repaid in not more than equal monthly installment
e BR A B DI .....o... T TRy fordl & 3iferes o T8 =T =gl
(A) 300
(B) 200
183
(C) 100
(D) 150
Answer Key:(B)
comes under the Capital Expenditure
...................... Hilicd TaqUfeR & Sfdfd 5|
(A) Salary
(B) Wages
184
(C)OT
&
(D) Land
S
Answer Key:(D)
No appropriation of funds is made which has the effect of exceeding the sanctioned cost of the
project beyond
185 .
A 1 fafaier T8 foran Siran 8 e uuTa uRasH & Wigd ara 9 ......... el
&l
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(A) 20%

(B) 15%

(C) 25%

(D) 10%

Answer Key:(D)

The expenditure on all occasions will be limited to the budget allocation and cash drawal limit
fixed by the Corporate

Taft raXRT IR fpan I arar o fAvrH ... gRT FAf3d 99ic siTeed 3R Adhg 3Mevur i
do Sifa gl

(A) Headquarters
Helg

186 (B) Dir (Fin) wing

ez (faq) fa

(C) Dir. (HR) Wing
(HHd e ) fd

(D) Dir. (NS) Wing

fAe=e (THEY) fan

Answer Key:(A)

Depriciation for Expenditure incurred for construction of temporary sheds at %

187 (A) 50
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(C) 25

(D) 100

Answer Key:(D)

Funds for Net Pay and Allowances should be demanded during the period

bl I 3R Hl & fore R B 7T . 3afy & SRE &1 I =nfeul

(A) Ist
Ugdll

(B) 2nd
188 ORI

(C) 3rd
RIRR

(D) None of the said
3T A PIS e

Answer Key:(C)

come under the Revenue expenditure

- 3ToIRd W@ & 3iqifd T g

(A)LTC

Qercr!

(B) A&P
189  WIRU

(C) Cables
B

(D) Land

yw
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190

191

192
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Answer Key:(A)

Posting of expenditure details in Register of works is made on -------- basis

BT AR A T & TR B UMD fTPTTA BT IMUR oo gl

(A) Monthly

(B) Half yearly

ELI]

(C) Yearly

(D) none
EEEEEIEE |
Answer Key:(A)

In case of works which have been included in the Demand - for - grants after the scrutiny, the
listing may be done on the basis of

T8 H o] S & §18 e & forg 7l § gfeferd far man g, - F YR W
e & S 8

(A) importance

(B) urgent
SR h

(C) priority

PIIEECE |

(D) demand
HIT

Answer Key:(C)

Furnishing Allowance is payable on retirement

HTS-HTH YT DT JaTHghd & T YTae
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193

194

(A) One month pay
Th HIg BT da

(B) 50% of Pay
JdT BT 50%

(C) 37.5% of pay
o BT 37.5%

(D) Nil
RIS

Answer Key:(D)

http://223.30.222.69/bsnl2017/testset.php

The rate of Composite Transfer Grant payable in case of Local transfer involving change of

residence is

3T dea- ¥ e RIT WYMo AT § Sgad R 3feq g R g gl

(A) two third of Basic Pay

Hefdd o1 &l fogTg

(B) One third of Basic Pay

qada &1 T faers

(C) Three fourth of Basic Pay

el A BT i TS

(D) None

PO Tl

Answer Key:(B)

For local journeys, DA is at rate

R SR & o, SR v Pt R ... B

(A) double

Esll

(B) half
31T
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(C) actual

GIESICED

(D) three times

GIERIGH

Answer Key:(B)

Retirement Gratuity to Directly recruited employees in BSNL will be paid by

Seeue | e ydf forg 7T Sl & JarHgit SueH 9 gRT fear S|

(A) Central Govt.
&g WDHR

(B) BSNL

195  diuguAed

(C) EPF Authorities

SUiTw UTfRie o

(D) None
O Tl

Answer Key:(B)

For Income Tax purpose, Gratuity is exempted to the extent of

AR TS & [T ........ TR d® SUGH H ge g

(A) 50%
(B) 75%
196

(C) Full

(D) None
O Tl
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Answer Key:(C)

Formula for calculation of encashment of EL= (Pay + DA)X no of days at credit / .....days

3T et BT YA DI UM B b o8 BTe § =@d+31)X 51 &1 1 T ...
fe

(A) 31

197 (B) 30

(C) 26
(D) 28

Answer Key:(B)

DOT employees absorbed in BSNL are eligible for pension, family pension and gratuity as per

STIUed H RETR AU & Smafed HHar) 93, tRaR U IR IUSH & ... b
ITIR U g |

(A) Rule 37A
IGEkFAY

(B) Rule 37
198
g 37

(C) Rule 56]
a9 561

(D) Rule 54
99 54

Answer Key:(A)

A Govt servant may request within a period of days of joining his duty on the expiry
199 of the relevant spell of leave availed of by him for commute it retrospectively into leave of a
different kind, which was due and admissible to him the time leave was granted.
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BRI HHAR] FSId FE! B! TG TR ITD] ATH I8 & d1G HRIHR TG0 TR &b
...... f&1 o iR gt 1 uRafdd H7 & e srRiy X wba & o o 3 <t SR gg!

UG Bd U WIHR Bt 173 |

(A) 45 days

45 faA

(B) 30 days
30 faq

(C) 15 days
15 fe

(D) 20 days

20 faA

Answer Key:(B)

The concession for crediting unavailed Joining time not available, for transfer in the same
station

TS 51 3BT H RUMTRU & fore, HRIUgU 3afdl fogeT My T8t IS T 8, STH! STHT
B Bl Fe IuAH TSI B

(A) TRUE

el

200  (B)FALSE
Tad

(C) partially true
(D) partially false
3ifRrep et

Answer Key:(A)
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